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(20)

(z,y) 0 200000 24, 24 2foppo.

Ox2°’ Oxdy’ 0y?

f(z,y) =0

flz,y)=1.

flz,y) ==

fzy) =y

flz,y) =2z +y

f(z,y) =z +ay

fz,y) = 2>

flx,y) = 2y + 2y’ + o

fla,y) = e~

flz,y) =e".

f(z,y) = log(zy)

f(x,y) = sin(zy)

flz,y) = %

f(z,y) = log(1 — zy)

fla,y) =+,

flz,y) = cosh(?:r2 - y2)
-2

flz,y) = ;Hz

fz,y) = log(22% + y*).

flay) = +12y2

flay) = iy2y2-

002 0000000 g(:)000000000.0000,¢90000¢ 0000,
0000000000 f(z,y)00000 2,2 00000.

(1)
3)

003 0000000 f(z,y) 000O00O0OOOO. 0000, fO00000

oz’ dy
flzy) =g(z+y). (2) flz,y) =g@®—y?).
f(z,y) = g(y/z). 4)  f(z,y) = g(Va? +y?).

000,0000000000 F¢)ODOO F()O00000.

(1)
3)

F(t) = f(1,1).

(2) F(t) = f(t*,%).

F(t) = f(cost,sint). (4) F(t) = f(cosht,sinht).
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2 2 2
D0 1000 (fao = 55, foy = 2ot fow = 55 000):
(1) Jzz =0, ny =0, fyy =0
(2) fxz:()a fzy:O» fyy—0~
(3) fzz:O7 fzy:07 fyy:
(4) fa:o:zov fa:yzoa fyy—2-
(5) facac:07 fxy:()a fyy*o
(6) fmzzoa fmyzlv fyy—0~
(7) foz = 613:927 fo;y = 6$2y7 fyy = 2z°
(8) Sz = 2y, fmy:2x+3y23 fyy:6xy+2~
(9) fmai = ez_2y7 fa;y == _2613—2@;, fyy - 46m_2y.
(10) faa = y26w» fzy = (1 + xy)egcy’ fyy = z%e™.
1 1
A1) foe =22 fay =0, fuw= 5
(12)  foe = —y*sinay, fazy = coszy — zysinxy, fyy = —x*sinzy.
2y 1
2 2
-y -1 —T
14 Tr = 5, Ty — 5 = —
R Jo = T ayp Ton = =y
(15)  fre =2(1+ 23:2)612”742, Joy = 8xye“2+2927 Jyy =41+ 4y2)ez2+2y2.
(16)  fop = 4sinh(22? — y?) fry = —8zycosh(22® — ), f,, = —2sinh(22* — ¢?)
+ 1622 cosh(2z? — y?), + 4y? cosh(22? — y?).
—20y 10x — by 10x
17) foo = 53 oy = o 3o =53
U1 e = ey For = vy I = v gy
—82% + 492 —8xy 422 — 292
18 T = TA4 o5 . o\o TY — T4 o . o\ = T 5 . o\o-
(18) f (222 + y2)2 Jay (222 + y2)2 Ty (222 + y2)2
222 — 492 16zy —4x? + 8y?
19 T = 75 | 5. 9\3° Ty = T 5 o N3 = -
(19) f (2 + 242)3 Jay (22 + 2y%)3 Jyy (2 + 242)3
(20) fro = 223y — 12293 o= —xt 4 122292 — 49 fo= —8x3y
zx (22 + 2y2)3 zy (22 + 2y2)3 C T (2 a2
od2000:
of of
1 -~ =4 Yro_ .
(1) 5 = 9 @+ Y), 9y g'(z+y)
6f /(.2 2 8f /(.2 2
2 — =2 — ==2 .
(2) 5 = 229 (@ +y7), By yg' (=" +y7)
of  —vy of 1
(3) 3 = 29 W/, e —9'(y/)-
of € 12 2 of Y 102 2
4 Lo @+ ), L= L g+
(4) B \/mg( y7) By mg( )
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F'(t) = 3—5(1,79.

of of
F/ 2 2 3 2 2 3 .
(t) = t—ax(t ) + 3t —8y(t )

., Of . of .
/ _ —~J 4
F'(t) = smtaw (cost,sint) + COStay (cost,sint).

F'(t) = sinhtaf

9]
Pz (cosht,sinht) + cosh t—f (cosht,sinht).
z

dy



